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TASKS 1 and 2
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  The most important thing is that 
     light has to start inside the detector.

  Signal vs background.
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TASKS 3 and 4
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The larger the energy, the more charge 
is deposited in the detector and light
stays in the detector for longer.

The energy of the neutrinos allows
us to determine whether the neutrinos
are atmospheric or extragalactic.
The declinaton gives us information 
about where the neutrinos come from.
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TASK 5

 1 km2The energy cut helps us analyse 
the data.
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the data.
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It is necessary to have enough data 
in order to be able to establish a 
statistically significant conclusion.

A similar number of neutrinos are 
observed at each declination. 
Therefore, it is difficult to determine 
whether neutrinos arrive from a 
specific point in the universe.
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Quiz!
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Now it is your turn to do a quiz! 
The fastest team to get the most 
number of correct answers will
get a prize!

      Go to: https://nuclass.weebly.com/2

https://nuclass.weebly.com/2
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